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IMPORTANT NOTES / 9g&qel a1

(A) Please fill up the OMR Sheet of this Question Answer Booklet properly before answering.
Please also see the directions printed on the obverse before filling it.
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(B) The question paper has been divided into three Parts - A, B and C. The number of questions
to be attempted and their marks are indicated in each part.
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(C) Attempt answers either in Hindi or English, not in both.
SO R A B wwr F § fh we o AR, dR o w0

(D) Answers to all the questions of each part should be written continuously in the script and
should not be mixed with those of other parts. In the event of candidate writing answers
to a question in a part different to the one to which the question belongs, the question will
not be assessed by the examiner.
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(E) The candidates should not write the answers beyond the limit of words prescribed in parts
: A, B and C failing this the marks can be deducted.
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(F) In_case the candidate makes any identification mark i.e. Roll No./Name/Telephone

No./Mobile No. or any other marking either outside or inside the answer book, it
would be treated as resorting to using unfair means. In such a case his candidature

shall be rejected for the entire examination by the Commission.
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PART - A Marks : 40
" — 3w : 40

Note : Attempt all the twenty questions. Each question carries 2 marks. Answer should
not exceed 15 words.

e : Waouaﬁ%wﬁ%ﬁlmqﬁ%%ﬁqw%ﬁﬁa%w9!«sﬁﬁ'
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1 Ordinal utility
HA-FAH TR

2 Equi-marginal utility principle
- STt e

3 Derived demand

g~ A
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4 Arc elasticity of demand

T B AT-d

S Expansion path
—qeg

6 Shut-down point

eE-Ta g
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7  Marginal revenue product
(I IGS R IL CE [

8  Marginal rate of substitution

i # 9 )

9 Real interest rate

oS @ Andige ]
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10 Rate of inflation

HERDIf—ax

11 Liquidity trap
BEGLIERS I

12 Recession

Tarfererar
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13 Equation of Exchange
Tta e

14  Value-added

15 Indirect tax
HITT—h T
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16  Incidence of tax
T

17 Effective tax-rate

HL B guTR-=x

18  Progressive tax

TS BT
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19 Least-cost combination

S[ATH WA HET

20 Collusien

gy
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PART - B Marks ; 60
-9 b : 60

Note :  Attempt all the twelve questions. Each question carries 5 marks. Answer should
not exceed S50 words.

e - Waqqﬁfﬁméﬁﬁluﬁiﬁuw%qw%%lwqofm‘r'@r
aftes T8 dr gy :

21 How do we resolve the ‘paradox of value’?

‘W%%ﬁmﬁw’ww%@rﬁmw%?

22 Discuss Milton Friedman’s permanent income theory.

ﬁmﬁ%ﬁa%‘mﬁm%m’wﬁéﬁﬁa&&m
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23  What is “Globalization’?

“rUSHETT FT ¥ 7

24 What do you mean by ‘Inclusive Growth™?

Fmash dafy ¥ o @ R 7
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25 Explain the meaning of ‘Rational Expectations’,

Do Tengmet’ w et wree HIRTT |

26 What is ‘Social security’?

TS gIET Rl wed E0
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27 Explain ‘Euler’s theorem’.

qEX B W B W B

28 What is ‘Prisoner’s dilemma’?

‘T B gRET T T N EEE & 7
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29  Explain the concept of ‘Invisible hand’.
W T W FEEn W Fifm|

30 What are ‘Renewable resources’?

el daeT @ gy e
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31 Discuss critique of indifference-curve approach,

SAREE-TE Jurm B whE wr feee @R

32 What are ‘economies of scale’?
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PART - C  Marks : 100
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Note : Attempt any 5§ questions. Each question carries 20 marks. Answer should not exceed
200 words.
e aﬁéaﬁquﬁaﬁﬁmmwﬁ%ﬁmQoaifﬁﬁrafﬁ?r%la—ﬂwoQWcEf@r
w78 B =)

33 Define ‘price elasticity of demand’. How is it measured? Discuss various factors that
determine the price elasticity of demand.

‘Wﬁmm’ﬁmﬁaﬁmlsﬁﬁww%?mﬁrﬁmﬁmmﬁ
w1 guie wifwgi
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34 Distinguish between ‘Laws of Returns’ and ‘Returns
of Diminishing Returns wit

h the help of a diagram
‘w&r%ﬁmﬁ’.a‘ﬂnﬁ%uﬁrﬁﬁ’ﬁwwaﬁzﬁ@m—mﬁmaﬁ%m&m
T W Hifg ' :

to scale’. State and explain the law
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35  What is monopolistic competition? What are the basic assumptions of Chamberlin’s large
group model? Use diagram to illustrate Chamberlin’s large group model with price-

competition and free entry.

wmnﬁwufw%_?%ﬁﬁﬂw%a%nwﬁwa%mmumﬁw%?w
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36 What is inflation? Analyse the effects of inflation on different classes of society. How
can it be controlied? '
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37  Briefly discuss Keynesian theory of income determination and compare it with the classical
macroeconomic theory.

&1 % meﬁﬁ%w.-aﬁﬁqamwwm“ﬁawsmﬁim
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38  Explain the principle of maximum social advantage with the help of a diagram. What
difficulties do we face while applying the principle in actual practice?

‘aﬁwmw’%ﬁa@mﬁrﬁamwaﬁﬁmwﬁa@am‘wm&--mﬁr{
ﬁwmwﬁ%mwwmm%?
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39  Define economic-development. What are the strengths and weaknesses of the Human
Development Index (HDI) as a comparative measure of human welfare? Give your
suggestions for improvement and refinement of the HDI.
mﬁﬁmﬁﬁmaﬁv&mmaﬁqaww%'w%mﬁwﬁwaw (HDI)
%waﬁaﬁw%?mlﬁgwamﬁq%@mwﬁﬁql
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